H & 0l & AHS B Ml A

20243 =0llah LB J1= 0l Xt

SN JIBULXID
2 IE2d
el oI (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIZ 0l X 2t 18,476,671 11,655,098 6,821,573
= 8,645,583
Jl 161,000
= 1,600,468
Al 8,069,620
Hoetaes 14,544,135 9,537,697 5,006,438
= 7,935,845
= 1,476,825
Al 5,131,465
o2& 14,544,135 9,537,697 5,006,438
= 7,935,845
= 1,476,825
Al 5,131,465
WItSEL & dE 2e| 28(EX) 120,000 108,000 12,000
= 60,000
Al 60,000
201 fer= 3| 120,000 108,000 12,000
== 60,000
Al 60,000
01 At22t2l] 119,400 22,033 97,367
O&EEZA==2 6,799,400 x50 & 33,997
< 16,999
Al 16,998
Oly|etE3 =3y el 29
17,080,600 *57H 2 85,403
S 42,701
Al 42,702
02 s3=gbl 600 85,967 A\85,367
Olo|etBsdgY &I, Sall
120,000 504 A 600
S 300
Al 300
WItSE3Y & dZE 2|2 (XHH) 66,200 45,497 20,703
201 er2 3| 66,200 42,360 23,840
01 AtR2telHl 45,000 12,000 33,000
OUDIBFSHY U MW S 425 7Y
5,000,000 *6IH 2 30,000
onJlezadzae 249 2el 89
15,000,000 * 1 15,000
02 S5=2g4l 21,200 30,360 A\9,160
Olpy|etz &t AIZEHIS A
2,000,000& %12 2,000
OOIMZRILe0sS &), Stles
600,000& * 122 7,200




2A:

X ZH -
o=

JIZ 0L Xl 2
o3 2d

o2 toIEd (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OoIstEdszY & 28 M|, SHeZ
1,000,000& = 12& 12,000
CSEFX RIIHXF X3 A 2,896,500 2,786,500 110,000
= 1,448,250
& 144,825
Al 1,303,425
402 QI2E X201 ™ 2,896,500 2,786,500 110,000
= 1,448,250
= 144,825
Al 1,303,425
02 QIZEXHEAIH 2 (01 THE) 2,896,500 2,786,500 110,000
OL2ERA RIIHX K2 (4S53)
3,700,000 *300CH 1,110,000
= 555,000
= 55,500
Al 499,500
OLFZRA ZIIHIX K3 (ALEIIA)
3,730,000 *50CH 186,500
= 93,250
= 9,325
Al 83,925
OLFERA RIIHX X2 (5S53)
1,600,000 *1,000CH 1,600,000
= 800,000
= 80,000
Al 720,000
O2l0] S&XtEF2| LPGRH MEt XIJAAHS 30,000 203,000 A173,000
= 15,000
Al 15,000
402 QI X201 A 30,000 203,000 A173,000
= 15,000
Al 15,000
02 QIZIXEAMEEAE(OIMTHE) 30,000 203,000 A173,000
OO02lo] Sstxtzk LPGRH &8k XIR
5,000,000 +6CH 30,000
= 15,000
Al 15,000
DPF(ONA M2 AR ) =X A 280,500 363,000 A82,500
= 140,250
Al 140,250
201 B2 AY| 3,400 4,000 AB00
= 1,700
Al 1,700
01 A=R2teld| 3,400 4,000 2600




2A:

E M

JIZ 0l Xl 2
o3 2d

chelr toI2d EER=E)
SA - ZH - B2A(SH) - HRAES of v G o HIDE2
OdsF A= HAL =8
40,0002 *85CH 3,400
= 1,700
Al 1,700
402 2I2F X201 & 277,100 359,000 /81,900
= 138,550
Al 138,550
02 I EASEZ(0IETHR) 277,100 359,000 281,900
ODPF(OHH M2 EXI) SEX A
3,260,000 85CH 277,100
= 138,550
Al 138,550
A DPF SIS ALE 11,000 22,000 ~11,000
= 6,600
Al 4,400
402 2I2F X201 & 11,000 22,000 211,000
= 6,600
Al 4,400
02 QIZEXHE2 AL 2 (O™ THE) 11,000 22,000 211,000
OAEIIH OPF REX A
11,000,000 = 1CH 11,000
= 6,600
Al 4,400
A AN WH K2 A 577,500 841,500 264,000
= 346,500
Al 231,000
402 2I2FX=01 & 577,500 841,500 A264,000
= 346,500
Al 231,000
02 QI XHEAISE R (01X THE) 577,500 841,500 264,000
OAEINA ATWH XA
16,500, 0002 «35CH 577,500
= 346,500
Al 231,000
23012t JUEX dsFA2el AN2A 2,690 0 2,690
= 1,345
Al 1,345
402 2IZtA=01d 2,690 0 2,690
= 1,345
Al 1,345
03 2I2+LAEAISHI 2,690 0 2,690
OE3JI2t X dssi2el NS
2,690,000& %12 2,690
= 1,345




2A:

X XH -
o=

JIZ 0L Xl 2
o3 2d

el I=d EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 1,345
OIS S| ESAE 66,300 130,000 263,700
== 19,800
Al 46,500
402 212 X201 & 66,300 130,000 263,700
< 19,800
Al 46,500
02 QI X2 AL EE (01X THE) 66,300 130,000 A\63,700
OISt SEI| KA (510H)
1,300,000 *51CH 66,300
= 19,800
Al 46,500
SIISIH E5AH 2,931,250 2,313,200 618,050
= 1,108,000
= 438,250
Al 1,385,000
402 2IZtA=01d 2,931,250 2,313,200 618,050
= 1,108,000
= 438,250
Al 1,385,000
02 QI X2 AL E R (0IHTHE) 2,931,250 2,313,200 618,050
O&IINSAE e 2,931,250
= 1,108,000
< 438,250
Al 1,385,000
D|st=X 2ESAH 2,528,750 2,050,000 478,750
= 1,589,500
< 216,750
Al 722,500
402 QI2F X201 & 2,528,750 2,050,000 478,750
= 1,589,500
== 216,750
Al 722,500
02 RIINEASEZ(0IETHR) 2,528,750 2,050,000 478,750
O&JIstExt 7 18,062,500 * 140CH 2,528,750
= 1,589,500
S 216,750
Al 722,500
SIIHA E5AY 605,000 605,000 0
= 350,000
= 105,000
Al 150,000
402 2I2F X201 & 605,000 605,000 0




2A:

X XH -
o=

JIZ 0L Xl 2
o3 2d

el I=d EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 360,000
=S 105,000
Al 150,000

02 RIINEASEZ(0IETHR) 605,000 605,000 0
OXIIHA Y 121,000,000 =5CH 605,000
= 350,000
= 105,000
Al 150,000

SII0IEX E=AHS 72,000 0 72,000
= 30,000
= 12,000
Al 30,000

402 2IZtA=01d 72,000 0 72,000
= 30,000
= 12,000
Al 30,000

02 QI A2 AL E (01X THE) 72,000 0 72,000
O&JI0IE ¢ 1,800,000 *40CH 72,000
= 30,000
< 12,000
Al 30,000

=) 2SAE 100,000 0 100,000
= 50,000
< 10,000
Al 40,000

402 QIF X201 & 100,000 0 100,000
= 50,000
== 10,000
Al 40,000

02 SIINEANSEX(0IETHR) 100,000 0 100,000
O&Jl==)| ¢ 20,000, 0002 =5CH 100,000
= 50,000
=S 10,000
Al 40,000

F=as JXX ESAME 1,725,000 0 1,725,000
= 1,125,000
S 250,000
Al 350,000

402 2I2F X201 & 1,725,000 0 1,725,000
= 1,125,000
= 250,000
Al 350,000

02 QI X2 AL E R (01X THE) 1,725,000 0 1,725,000




SA: JIZ0H X 2
ZE: (DR
el oI (SH9 H2)
SA - A - S9I(E) - HIRAY - BES ol &t G o HIDE2
O==a2dz HXXt Bt
34,500,000 +50CH 1,725,000
= 1,125,000
< 250,000
Al 350,000
=AHA BSAH 2,450,000 2,450,000
= 1,720,000
< 219,000
Al 511,000
402 SI2ERHE0I M 2,450,000 2,450,000
= 1,720,000
= 219,000
Al 511,000
02 QI RH2AIS 2R (0IETHE) 2,450,000 2,450,000
O==2HA ESAHY 2,450,000
—AHA BSAR (M)
300,000, 000-& +2CH 600,000
= 420,000
= 54,000
Al 126,000
—=AHA BSAE (04
370,000,000 & +5CH 1,850,000
= 1,300,000
< 165,000
Al 385,000
CENST SHMSAIAE 53,245 53,245
201 Lt 14,040 14,040
02 2324l 14,040 14,040
OL=2NSt SHMEAIAY &S
120,000 * 1204 & 1,440
O:=XSIt SRMEAAE SEes
1,050,000« 12JH 2 12,600
308 XXM SOOI 39,205 39,205
18 S 2SS & AET AL 39,205 39,205
Odletde NSA 2dne Se2MuE
& HEFH| /IE2E 39,205
—=2d2bl 24,830,000& 13 24,880
—S X2l 14,325,000& *12] 14,325
S NsA S 222 15,200 15,200
201 23] 15,200 15,200
01 AtR2telbl 12,200 12,200
Oozgd st ESMd 228 ME
66,0002 10004 6,600
Ozl Asxt SH+7 dofl &di?l 25 =
2= M& 2,000 «300H 600




SA: JIZ0H X 2

M HoI¢EEd

celr oA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORZoH NSX AEIH HE
1,000& 5, 000H 5,000
02 S3=gHl 3,000 0 3,000
OB NS 9 VEIE 2Bz 2
= 3,000& +1,0004 3,000
IHEE M=sA22d EXIXEAE 9,000 0 9,000
= 5,400
Al 3,600
402 QIF X201 & 9,000 0 9,000
= 5,400
Al 3,600
02 QI X2 AL EE(OIETHE) 9,000 0 9,000
OJE8 N=A2gd XX
600,0002 *15CH 9,000
= 5,400
Al 3,600
ARl E FAHS &Etd 22 WAl XA 4,000 0 4,000
[ 1,200
Al 2,800
402 QI>F X201 & 4,000 0 4,000
S 1,200
Al 2,800
02 QI X2 AL EE(0IETHE) 4,000 0 4,000
OAMSRFAS detF22d WM
800,000 =5CH 4,000
= 1,200
Al 2,800
AoEd 25 190,646 1,415,013 A1,224,367
= 25,000
== 30,000
Al 135,646
U MEHH 25 190,646 1,415,013 A1,224,367
= 25,000
=S 30,000
Al 135,646
HEf A wet = 2CIAY 50,000 0 50,000
= 25,000
Al 25,000
307 212+01& 50,000 0 50,000
= 25,000
Al 25,000
02 LB HAHE L 50,000 0 50,000
OUEHAH wet A= MIAAE
50,000,000& *13] 50,000




SN JISULXID
g Josd 25
Rl X MEHH 23 (SH &)
SA - A - S9I(E) - HIRAY - BES ol &t G o HIDE2
= 25,000
Al 25,000
o MEASENL 22 40,646 40,013 633
101 2124d| 1,947 0 1,947
M IRHHZ2Z2XSES 1,947 0 1,947
OS¢t E M==AY 12|
78,8803 2 122 1,8%4
OS4HMEZ M=HY NESEHEZ
1,893, 1203 %1.75% 34
OSAMHZ ME=ZY MAHEE=
1,893, 1203 +0.962% 19
201 L= 36,779 38,127 N1,348
01 ArR2eltl 36,779 37,500 AT21
OUEHENE S = ety 22X SU=
= 2,200&3+7, 172m’ 15,779
OMEASMN A 2 A3 SFadH
100,000 8 *22] 1,600
OMSABENY EdE EES M
1,000& 17,0005 17,000
OMEAZBNIS ALIE 2T AREE +
2 200,000 122 2,400
202 044l 1,920 1,886 34
01 ZLHA LI 1,920 1,886 34
Od=SHEEXS 2HX ATs, FIIS3
o BM = 60,0002 *4 2 x8 1,920
FUAD MEAEMXSG 2| X2 100,000 0 100,000
= 30,000
Al 70,000
201 223 45,000 0 45,000
S 13,500
Al 31,500
01 ArR2eltl 45,000 0 45,000
OUESHEIXNS S22 HH
10,0003 *500% 5,000
< 1,500
Al 3,500
OMSAZENS R T2 JHY
% 29 5,000,000& 42! 20,000
= 6,000
Al 14,000
O=dSE MUEHEA THEE A
20,000,000&*12 20,000
< 6,000
Al 14,000
207 HA=PIHE 50,000 0 50,000




SA IO 2
2 nolsa we
Shelr X MERH 25 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 15,000
Al 35,000
01 H1ESHI 50,000 0 50,000
OMSAULHIS 23t 22l =8 89
50,000,000& *13] 50,000
= 15,000
Al 35,000
307 @120l & 5,000 0 5,000
== 1,500
Al 3,500
02 LB HAHE L 5,000 0 5,000
OgS M+ = FHUl S dEH 2=
= 5,000,000& 12} 5,000
= 1,500
Al 3,500
Jl=Hsty M2 495,297 46,440 448,857
7l 161,000
= 9,143
Al 325,154
JI2HE MR 495,297 46,440 448,857
Il 161,000
= 9,143
Al 325,154
IS I WAL X2 8,500 8,500
201 er23| 4,300 4,300
01 AtR2t2|HI 4,300 4,300
O FIE 2,500, 00024#13] 2,500
OBBIARE BALY
100,000 4 & »23] 800
OJIBHBEY N2 APRE 7
200,000 %53 1,000
202 04l 1,200 1,200
01 =LHOHI 1,200 1,200
OJ|=estdd X 219 & HAzts A
60,0002 x2EH*x2 2 +53] 1,200
310 =2/01& 3,000 3,000
01 =21 &01d 3,000 3,000
OICLEN(AXIEtH M3 E2sl)sld 2Y=
1,500&+2,000= 2 3,000
SRS 2 =+ 37,990 40,940 22,950
201 Ler23| 36,910 38,500 21,590
01 At2teltl 12,910 13,500 A590
OdNERgs DANA M
752 +60,0000H*23] 9,000




2A:

JIZ 0L Xl 2

Hu: J|SpisE B
Rl JISHIEAXE (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OSINHLES NS0IH 242
50&%5,00024 250
OSANERYE S IMAAHIE OIM =2
80%1+27,0002! 2,160
OBANERYS HEIE 243
100& 5,000 500
OsAMNERYEZ DA =5 HE
50&*5,00000 43| 1,000
02 33244l 24,000 25,000 A1,000
OSANERYE S HIIZ20NANAN RELER
= 4003 +18,00001*23! 14,400
OBAWELLS He SN 2B
ER3 400& *12,00001*22] 9,600
202 Ot 1,080 2,440 21,360
01 =WOd LI 1,080 2,440 A1,360
OBAWLRLS 24 L HHE HH S
60, 00021224 53] 600
OBAINELLS DN BSXE L CHA
ES g 60,0002 x2 2 43| 480
EtASE AEHE +E 5,000 5,500 AB00
201 L2 | 1,000 1,500 AB00
01 ArR222lt| 1,000 1,500 A500
OBAZRSIAS B4
100,000 x5 H*23 1,000
301 LPENZ 4,000 4,000
14 JIEI2 &3 4,000 4,000
OBIAZE A8 NS OHIE XX
5,0002 10001 +83 4,000
Jl=HsiiiE ¥ =Qad & 15,560 0 15,560
201 B2 AL| 11,400 11,400
01 ArR22ltl 11,400 11,400
OZXJIHZ & L BX2 MFE =25
=2 4,500& *2,000CH 9,000
OJIZHHE FRAH X3 2EH AMRE
= 7 200,000 123 2,400
202 04d| 2,160 2,160
01 =LHO4 b 2,160 2,160
OJ|=83eiHE 2o ¥ Hatg| &4
60,0002 x3H 63| 1,080
OJI=dsiie & Foad X
60,0002 *3Z x2 2 *3& 1,080
203 YR F=&IH| 2,000 2,000
03 AR FRIHRFAIH| 2,000 2,000
OJI=H3t Aty Y Aietd HRF8
2,000,000 14 2,000
2LIIA 25 85,104 0 85,104




2A:

JIZ 0L Xl 2

. J|2Ha Y M2
Rl JISHIEAXE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 51,104 51,104
01 Al 22| 40,144 40,144
OBHERINHT SN 2SH
15,000,000& *13] 15,000
OSaJtA HEZMFAN L SHA =
= 22,000,000 *13] 22,000
O2aiA 2% D20y 29
3,144,000 %12 3,144
2 35234l 10,960 10,960
OBASEHEQIE QIMEIE &43FA & &)
HXt QHHE REES
2, 7403 %2,00024 22 10,960
301 EetE2 N = 34,000 34,000
4Bt 2as 34,000 34,000
OSAIIAZE AF AlRIRA(S2EM0HT}
g) 34,000,000& *13] 34,000
EASHEAE(NUA) 24 304,000 304,000
Jl 162,000
Al 162,000
301 EtE NS 304,000 304,000
Jl 152,000
Al 152,000
14 DBt 2 a3 304,000 304,000
OSHASYHELIE(MUX) HEIE X2
30,4002 #5,000All CH =23 304,000
Il 162,000
Al 152,000
EBASHIEE(XNSA) 2 18,000 18,000
Jl 9,000
Al 9,000
301 EtE NS 18,000 18,000
Jl 9,000
Al 9,000
14 IIEt2 8 18,000 18,000
OSHASEHAE(XSI) QHEIE X2
50,0002 *360CH 18,000
Jl 9,000
Al 9,000
Hetgd e EHANQIEX &0 2EAY(O1EIHY) 14,000 14,000
== 7,000
Al 7,000
301 EtE NS 14,000 14,000
= 7,000
Al 7,000
14 IIEt2 83 14,000 14,000




SA JI=0IH X 2
. J|2Ha Y M2
e B E S oI PSESON b (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBAZYHLER =0 2B (OIZIHIUR)
8,000 %1, 750H 14,000
= 7,000
Al 7,000
Hetg e EHAHQOIEN & 2SEAY(MA0HY) 7,143 0 7,143
== 2,143
Al 5,000
301 22N 7,143 0 7,143
[ 2,143
Al 5,000
14 JIEt2d=3 7,143 0 7,143
OESASEHEAEN & 2E (AL
7,143%%1,000H 7,143
= 2,143
Al 5,000
OIHAl el &FE 2 S85 3,117,220 655,948 2,461,272
= 684,738
=S 84,500
Al 2,347,982
ORIl &t olzet A= 3,117,220 655,948 2,461,272
= 684,738
= 84,500
Al 2,347,982
HIUXNES & RSEAM & 26,860 424,248 A\397,388
201 fet= 3| 22,060 20,408 1,652
01 AtR2t2lHl 22,060 20,408 1,652
OUIUX B 222(8Y S) HE
3,000,000 *14] 3,000
OAIZIFE0 =M40UA nISEEZZ20E 2
g 1,800,000 «3H 5,400
OUUXIZ0F == S2AIH S2NE M
= 2,500,000& %14 2,500
OulHXl &t & 2LIHE 23
1,800,000 *14] 1,800
OuUXIfIdE 213 &=
100,0003*9& »23] 1,800
O=F8 ZADIASE YoRRs HE
100,000 x6 & *32| 1,800
OUUXl S22 =& S
8,000 x4 *152x 122 5,760
202 04l 4,800 3,840 960
01 2LHoIH 4,800 3,840 960
OO SR8 0]
60,0003 x4 »203] 4,800
=EA AGHU XM 29 200,000 200,000 0




2A:

E M

JIZ 0l X 2
OIUX elzet &5 2 253

DOIUX A elEel 2=

=t (EHl: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 200,000 200,000
05 2IMRIE =3 200,000 200,000
O=&Al NSHHXNME 2
200,000,000 *1& 200,000
HIUXNME A= 253At 5,000 20,000 15,000
401 Al HIZ S OHbI 5,000 20,000 /15,000
01 AlZ2H| 5,000 20,000 A15,000
O0UXIEH A2 E+3At 5,000
— A& Ji2==H| 3,000,000& *12 3,000
—FHedd8Hl &g 1,000,000 22 2,000
AU nEEENS2=2d 6,220 6,220
201 er2 3| 6,220 6,220
01 AtR2t2|HI 6,220 6,220
OMgat 28 2= M&
3002 *4,5000H*22] 2,700
OME2 RUAIE =&
1,000,000 22 2,000
OZ2EH EY S A2E 2|
760,000 <22 1,520
A OIUHA 25 =0 903,594 903,594
201 er=23y| 903,594 903,594
01 AFS2t2ltl 6,500 6,500
OUIHXIZO0F 20chBAL =3 & EE23
1,000,000 *3H 3,000
SUIENIBIES ERERIE S
300,000 54 1,500
OlUHXE AMeEs Y
500,000 42| 2,000
02 S3=gHl 897,094 0 897,094
Ol XIEZ2 Met NYFFE 2 XA
FE= 3,000,000& %12 3,000
OZOIECoEHA QISR dets
295,002,000& %12 295,002
Ol EEC0Z &4 RIZIEX} afets
599,002,000& x12] 599,002
ATHAOIH X =EXR ALE 160,000 0 160,000
== 80,000
Al 80,000
402 2I2E X201 & 160,000 0 160,000
< 80,000
Al 80,000
01 QIZEXH2 AL 2 (R TH ) 160,000 0 160,000
O.THAOIH X =ERXI A
160,000,000& 12 160,000
= 80,000




2A:

X XH -
o=

JIZ 0l X 2
OIUX elzet &5 2 253
ORI & eloel 1

29 (EHel: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 80,000
OILIEHZZ 25 XA 72,000 0 72,000
402 2I2FX=201H 72,000 72,000
01 IR SASE X (XHMITHR) 72,000 72,000
ol 253
1,200,000 *60AlI CH 72,000
ATHANU X ESEXE At 897,146 0 897,146
= 516,738
Al 380,408
402 2IZtA=01d 897,146 0 897,146
= 516,738
Al 380,408
01 QI XHE AL E R (KM TH) 897,146 0 897,146
OLMEUHUHX ESSA2A
897,146,000 12 897,146
= 516,738
Al 380,408
ATHAEOIL X 2HCHOBF R E AFY 200,000 0 200,000
= 100,000
Al 100,000
402 2I2F X201 & 200,000 0 200,000
= 100,000
Al 100,000
01 QI XHE AL E R (KM THE) 200,000 0 200,000
OLITH AU X 2HTHOIEAE &=
200,000,000 %12 200,000
= 100,000
Al 100,000
O E A 29 15,000 11,700 3,300
201 er23| 15,000 11,700 3,300
2 52434l 15,000 11,700 3,300
OCCTIV & Z2LIEEAIAE S4ll
400,000 12& 4,800
Oo&IIe3 700,000 * 122 8,400
ORECr=2 2 150,000& 122 1,800
BCHYE ASAEY 100,000 0 100,000
402 QI2F X201 & 100,000 100,000
01 QI X2 AL E A (KHMITHE) 100,000 100,000
OECH2Z ASAL(SHIAEXIY)
100,000,000& 12 100,000
FAHS 5=t At 85,000 0 85,000
= 45,500
Al 39,500
401 AlZHIZ SO 85,000 0 85,000




2A:
X XH -
o e

=aak

JIZ 0l X 2
OIUX elzet &5 2 253
ORI & eloel 1

(ehol:®el)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 45,500
Al 39,500
01 Al&H| 85,000 0 85,000
OFSAHS HeElasst A
85,000,000& *13] 85,000
= 45,500
Al 39,500
NEIE DIAHEEXI(EIOIHZE) ESAY 15,000 0 15,000
== 4,500
Al 10,500
403 AXIEHHSAH=201H 15,000 0 15,000
< 4,500
Al 10,500
02 SIS0t =S A A 15,000 0 15,000
OKPIZ JHAQHHERI(EI0I01Z) HSAY
15,000,000& * 13l 15,000
= 4,500
Al 10,500
SEXNS JtAAE HEAS 86,400 86,400
403 AXIEHHSAH=01d 86,400 86,400
02 SIS StA2 A AAE A I 86,400 86,400
OsEXNY JHAAE HEAS
288,000 *300All CH 86,400
LPG AHEDt7 AIEIHE At 45,000 0 45,000
= 22,500
Al 22,500
403 MR HHMSAH=01H 45,000 0 45,000
= 22,500
Al 22,500
02 SISOt =2 A P E A I 45,000 0 45,000
OLPG AHEIt7 AIEIHEALS
45,000,000 *12] 45,000
= 22,500
Al 22,500
= TAIASS EXAY 300,000 0 300,000
402 QI2F X201 & 300,000 300,000
01 QIZEXHE2 AL 2 (KM E) 300,000 300,000
OFe CANARS 2%
1,000,000, 000& *30% 300,000
AY2IZHIOI=0HXIY) 129,373 0 129,373
S lgestal 61,123 0 61,123
elIg =3 61,123 0 61,123
101 @124H| 61,123 0 61,123
01 &= 61,123 0 61,123




A JISHLID
M HARAZHI(OIFUEHXIL)
el i Eg| (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEFEEES,
11,3193 x 152 +30A| 2+ 123 61,123
Jl=23H| 68,250 0 68,250
Jl=23H] 68,250 0 68,250
201 fet=2 3| 37,770 0 37,770
01 AtR2t2|HI 37,770 0 37,770
OARES ¢ 300,000& * 128 3,600
OAIR4 HIS +# 300,000 * 122 3,600
OHYSEF M= 1,500,000 43| 6,000
OF2AE X+ M= 90,0003 »20= 1,800
O=AEA 7 22,0002 #1552 A+53 1,650
O=AD| EXtE 300,000 =20H*12& 7,200
O&=D| gX= 40,0003 * 122 480
OJlzge=d Sl
8,000 x14Z+102x 122 13,440
202 048l 26,880 26,880
01 2L AL 26,880 26,880
OJl22UHEE0
20,0002 x 16 +7&* 122 26,880
203 gF=4| 3,600 3,600
M FA2SLRFAI 3,600 3,600
ORNSgE =] 300,000 * 122 3,600




